LR TR A

lﬂﬁm&-ﬁ TA W' oW oaY

| s. mtqﬁmﬁ!wﬁﬁmmqm%

(AY 1 o aw=m v ¢ kil
M) TR wm fkam afm Wy w
© N wm E A v oewmoE \B). 5]
(D ¥ | I ) , Bl T
2. gaﬁaﬁaﬁﬁa"ﬁmﬁ.‘@ﬁvza‘cﬁﬁ% R
TET T ¥ § weEn 6. 4 fug #
(A) T9% (Aﬁ'ﬁéﬂa‘?
(B) ¥y (B) erd
(C) = »(C) ad ferm
(D) =9 |/ =, 7+ (D) ¥owR (gfeqer)

3. W oW Wi, gt ym A wm faf

(AR o R B
SR W YR 9RER 9 B BN SR

(A) TR
(A) FFEifaa X oo
(B) ©1&t @R
(B) Iu&® ‘
) (C) W
(Q Tom
(D) Ee9d < 9=l
(D) FTwA| |
4. WA FF oF gEwm ¥ ¥ fowm R 8. WA W A ¥
(A) ™ H L | (&) ghem
B T - ®) fr W
(C) garm & b © = ‘
S IR { , (D) T 9-FE )

June-2022 Series;D ' | 12)



10. zard ¢

(@) % § R

u-. yaR @ g €
(A) F9 IR faem aen wY
(B) el
(C) He&d
(D) M

VR - O i
(A) T

(B) ert

(C) =

(D) o

o Ay W R
&) fop “
(B)ﬁEEi.'
© o=
D) v I[E B,

J""18-2()22 Series-D

14,

15.

16.

17.

(3)

(C) g
(D) 93
TG TE B
(A) Tg8d

(B) TH
(C) v

(D) faem

(A) dHH
(B)
() fagz=t

(D) <¥si|



18, W =T
(A} &4
(B) =Y
(C) a
(D) T4 | FE T
19. -7 -~ Ioedd § WY R
(A) =1 Ti=
(B = |
(€) fawi ufw

(D) W 9 FE T

2. 7y w fadm @
(A) THN
(B) FFd
(C) oF
(D) 39 & F@ TR
3. FER W FOE ¥
(A) FegdITE

(B) 5%

() =edife

2. T T WEuR Em hpe)qam)S"“  FE T

A T
(B) ﬁ?LdrﬁH
(C) aeli+&iA

(D) HdsemEI
2. 7 # dawW W vHEar i
i (A) =g
(Bi T
(©Q 3rn
(D) I

_June-2022 Series-D

4. T 5 == 2

(A) =N
(By fm=

(C) Tan

(D) Wil

(W) 751 T ar e 4
(B) %% 3 e 1
(C) = ffws @

D) =g ¥w far &

(4}

25 [ W AR N R wowd



ENGLISH

i

‘Questi"“ Nos. 26 and 27 : In the following | 30, To carry away a person by force or

- jestions choose the nlternntive which best . fraud
'_G,p o508 the meaning opposite of the given (A) Attack
vord | (Bl Kidnap
96 Arrﬂﬁj": (C) Hijack
2: ::w (D) Steal
Question Nos. 31 to 45 are blank : Choose
[?l Humble the correct preposition and fill in the blank
(D) lgnorant : to make sense.
. Attract 31. This material is different ....cooeevnae that.
(A) Disappoint {A) from
| (B Repel (B to
(C) Disobey (C) with
(D Rev.eal I o B
Qr?gsttﬂn Nos. 28 to 30 : Find the 2 39  You should explain this ..o
Lol them.
. He appealed the JUdBE .o (A) at
‘.::m:; B) o
(B) for (C) with
€ from (D) upon
(D) with 33. He has been absent .......c.coeeeniin
f’t? He iS ANETY ...ovisiiensss. YOUT conduct. Monday.
(A) with (4) since
B) in (B) for \
(C) at | (C) from
(¥ upon ‘ (D) with

June—2022 Series=D . (5 )‘ P.T.



34. He goes .....ueeeanen... school by Car,
(A) in

(B) to
(C) at

(D) frem

35. 1 gave him a chair to sit

--------------------

(A) in

() on
(C) at

(D) upon

Question Nos. 36 to 38 are blanks : Choose

the correct article and fill in the blanks to
make sensé.

WP RaEypins University student,

37. She goes to the temple in

-----------------

morning. |
(A) the e
(B) a
(C) none’

(D) an

Junc-2022 Series-D

38. Harish Chandra was .......... Honest Kiny
(A) the
(B) a
(C) an
(D) in

:ig_ Write the synonyms of the word .
‘Abundanl’

(A) Fortunate
() Quick
(C) Happy

(D) Plentiful

Question Nos. 40 to 45 : Choose the Correct

Preposition to make sentence a menningful one,

40. You must act ................ your Father's
Advice.

(A) on
(B) at
(C) upon

(D) do

41. Mohan was absent

vereresensnnnns. the clps

(A) in
(B) from
(C) for -

(D) to

(6)



Q‘ Hf i's “nt -ﬂrMid iasaassaggy (TP }’ﬂu.

i‘ ‘A\ frﬁm |

i

Lo of
() with

m at

8 There IS NO CUTC yeiimnunee Cancer,
y -‘ i

@A) of
(B

(C}

for
with
(D) at

y. She was blessed ...oceeeneenee-
(A) with

(B) from

(C) of

(D) by

................ the thief.

i5. The dng barked
(A) on
(B) upon
{C) at
(D) to.

-

(hoose the Correct Passive Voice.

. T saw him leaving the house
{A) He had been seen leaving the house

(B) He was seen to be leaving the house

Question Nos. 47 and 48 ; Find the correctly

spelt words,

47. (A) Divene
(fl) Devini
(C) Divine
(D) Divem
48, (A) Expansive
(B} Expensive
(C) Expinsave

() Expensave

Question Nos. 49 and 50 : In the [ollowing

| questions choose the alternative which best

expresses the meaning of the given word.
49. Debate

(A) Declaration

(B) Discussion

(C) Drama

(D) Opinion
50. Abandon
(A) Huge

(B) Disaster

() Leaving the house he was seen by me (C) Leave
(D) He was seen leavingthe house by me (D) Punish
' . [ . 1
?nn e-2022 Series-D (7) (l P.T.



T

SI. 30 &R 45 @ 4 W qof = wew §

(A) 32
(B) 34
(C) 36
(D) 38

s7. 2000 ¥ e TEER R W ¥ -

(A) 2001
(B) 2003
(C) 2007

{D} 2009

s3. @ qmiai @ ToEEE (+60) g, M
@W(-ﬁ)%.ﬂi{@tﬂfﬁ%

(A) —-10
(B) 10°
(C) 6

(D) 60

54, TR OS5 H 7:5:3 4 % IR A dler W
@ T TR W BT

A 12
(B) 16,
(C) 20

L]

(D) 15

June-2022 Sries-D

.y

-

(8)

51, The perfect

_ The First Prime number greate

annEanl CS

quare aumber between 30

and 45 is
(A) 32
(B 34
(&) 36

(m 38
r than

2000 is
(A 2001
(B) 2003
(C) 2007
(D) 2009

 Theproduct of two integers is {(+60), if vne

of them is (-6), then the other integer is

(A) —10
(B} 10
(C) 6

i

) —60

CIf 95 iz divided into the ratios ol

7 :_5 : 8- 4, then the smallest part will be

(A) 12

(B) 16

(Cy 20

(D) 15



}‘5& FAACT x -2y =4 W 1A ¢ 55, The solution of the equation x — 2y =4 i
P o 2 (A} 10, 2)
[{ (B (4, 0) | (B) 14, O
© (11 .. (cy (1, 1';
(@ (2,0 | _ (D) (2,0
TP CO T 1S Fh § 3P0 | 56. The next number in the sequence 1, 4,
gen &l 9, 15, coverersareres is
tp) 24 (A) 24
() 25 A (B) 25
€ 36 (C) 36 :
49 (D) 49
5. (-1]“"’"" T ¥ 57. (—I]“n' is equal to
{A) 1000 (A) 1000
(R -1000 , (B) -1000
(C) 1 - (C) 1
(D -1 (D -1
8, 5+1{110+105DD+101110 N AA & 58. The value of 5+1:m* mﬁoﬂ b 105(;00 ia
(A) 5.1551 | (A) 51551
{B) 5.01561 (B) 5.0151 |
© 50201 (C) 5.0201
(D) 5.1201 ' (D) 5.1201

June-2022 Series-D " (9) , P.T.0



59. A HemH % Hewd WAOEdE SR @qeW | 59. HCF and LCMof the two numbers are g

TOTES FO9: § 9 96 € AR I A and 96 respectively. Il' one of the 1w,
TF W& 24 &, o @90 ¥ew e numbers is 24, then the other number jg
W 3 ' GV J
(B) 32 His (ﬁ) 32
(C) 42 (C) 42
(D) 68 - (D) 68

60.‘ qEug ‘2’ Wi femt & 60. The degree of polynomial 2 is

. {A) 2 ' Mn) 2 .
(B) 1 (B 1
() 0 1 @o
(D) 598 ® HIE W “ (D)} None of these.

6. @ m T 10%, n F 20% F IR & | 61. If 10% of m is equal to 20% of n then

@ m:n ¥ * the ratio m : n is

(A) 1:2 (A 1:2

(B) 2:1 (B) 2:1

(C) 3:2 | (C) 3:2
(DY'23 (D) 2:3

5{9.«%;‘{;'?&11245%;:05230"-sin” 60° T WA Bl [ 62. The value of 2tan®45 + co2 3P sin 0P it

T2 a2

B 1 ’ (B) 1 .

(C) 0 (C) 0

(D) V3 D) 3

June-2022 Series-D . (10) -



65.

3

3
) 3
(D) Jf1g9

.2000&3@&%#@1#:&%

W o ® ow gl o oay w
(A) 64
(B) 62
(C) 60
(D> 25

250 RIS JUER B .
(A) 25 faereter

(B) 25 @it

(C) 25 Bwreit

(D} 25 Edierer

Fefafas 7 4 F8-w @ = @ qu
7

(A) 80°, 100°

(B) 80°, 10°

(@) 45°, 45°

(D) 90°, 100°

. 99 ot Wt dew

e.2092 Series-D

£

(A) |

(B) 0

(€ - :
D d =wE =

63,

66.

67.

(11)

Which of the following is an irrational
Number ?

511

The least number which must be added
to 2000 to make it a perfect square is

(A) 64
(B) 62
(C) 60
D 25

. 250 hectolitre is equal to

(A) 25 Kkilolitre
(B) 25 litre

(C) 25 decalitre
(D) 25 decilitre

Which among the following forms a pair
of supplementary angles ?

(A) 80°, 100°

(B) 80°, 10°

(C) 45°, 45 ~ Y
(D) 90°, 100°

The Smallesi Natural number is
(A) 1

(B 0

(C) -1

(D) None of these.

P.T.0,



68. fret L] ¥ FR-m B =) wahmomm = | 68. Which of the following is not 4

s @ & congruence rule for triangles?
W t‘ﬂ]'m"l‘ﬂ (A) SAS
(B) HIV-wim-Io7 (B) AAA
(C) Fiw-ww-FH (C) ASA
(D) WHHIOT-FHoi- 30 | (B) RHS
69. T weamw -qn aren fa= e | 69. A symbol having a fixed numerical value
£ : is called
(A) 3= (A) Constant
(B) WHIH (B) Equation
(C) T ‘ L " (C) Variable
(D) e wH= _ (B) Linear equation

0. Frefatea § @ 'v 94’ H 99 'ﬂﬁm 70. Choose ‘Leap Year” among the following,

:

(A) 1998 _ (A} 1838
(B) 2018 (¥ 2018
(C) 2029 \ | ‘ (C) 2029
(D) 2200 (D) 2200

71. $78210 § § & TG A 8 a@fe® | 71 The difference between the place valuc

e A A 2 " and face value of 5 in 578210 is
(A) 500000 | (A) 500000

(B) 5 |l ®s

() 0 (C) 0

(D) 499995 (D) 499995

June-2022 Series-D (12)



L gF v ® few famt R E

(A) 4

{m 12

(Cy 8

tin 6

§] + 17 + 3 & WA 3
(A) 1

B0 y
) 17

(D) 3

14. Waar1.J16-J4 =1 wm ¢
(A) 3
(B) 4
(C) 7

o 2

42-24120-20x0.6x10
(28-7x2)=(2000x0.3) 7 T ¢

(A) 600
(B) 560
(C} 614

D) 484, ‘

June-2022 Series-D

L]

72,

(13)

73.

4.

75,

How many edges are there ina Cuboid ?

(A) 4
(B) 12

(C) 8
(D) 6

The value of 51,17 . W oIs
(A) 1

(B) O

(C) 17

(D) 3

The value of Q/’Jddl | Jﬁ—ﬁ is
(A) 3

(B) 4
< 7
(D) 2

. 4% -21120 -202 0610
The value of (28 7_:2) (200010.3' 15

(A) 60O
(B) 560
(C) 614

(D) 484

P.T.0



. A=y
b GENERAL KNOWLEDGE

76. ‘fﬁ'q-ma feag! - : '
e B 76. When ‘Himachal Day' is celebrated ?
(A 15 apme (A) 15th August
(B) 25 w=aq | (B) 26th January
(C) 2 3=gm (C) 2nd October
(D) 15 37w (D) 15th April

77. 1926 %. W Fysfafee o § fmed A | 77. Which of the following built the ‘Mahima

iy i .
W ‘mfem RASEAGE T TG W Y17 Library’ in Nahan in 1926 A.D.?

(A). TH U&hE (A), Ram Prakash

(B) €& UM . (B) Surendra Prakash i

(C) HEWE 3IHY Wil (C) Maharaja Amar Prakash

(D) F<Fo WhA (D) Kalyan Prakash

78. T T wg §I %rh p eX a m Se Dhami firing took piuce in

' (A) 1920 3. (A} 1920 A.D.
(B) 1939 3. (B) 1939 A.D.
. (©) 1934 %. 8 (C) 1934 A.D.
(D) 1944 % (D) 1944 AD.

76. A W ﬁ'ﬁlf‘fﬂ'T weifeal & fF@ AW | 79. By what name Shivalik hills were known

8 s S | to the Ancient ?
(A) THF vEad (A) Manak Parbat
(B) T Lo | (B Naga Parbat \
(c) = e | © vyasa Hits
(p) ford weld (D) Trigarta Parbat

June-2022 Series—D : ( 1'4 )



g0, Frafafen ¥ A fem fomt & vt waega
T TE Fedl? |
(A) fF=in
(B) Term=n

-

(C) Tammayy

() fmim -
] '_t'ﬁf' T fem %

A) oo,

(B) ==

(C) W

(D) fE=in

g2. fava w@ReT ST (WHO) F1 S99
T4 B3?

(A) 4 oTied, 1947

(B) 9 ke, 1948

(C) 7 ardw, 1947

(D) 9 8 w1 TE

83, A Sfvm e o et 4 T
® AT 'AM' (Logo) F T W s #
(A) eTeit

(B) ¥t

(C) <y

(D) =&

June-2022 Series-D

80.

81.

82.

83.

(156)

In which one of the [ullbwing District

River Satlyy does not flase
(A) Kinnaur

(B} Shimla

(C} Bilaspur

(I Sirmour

Jalori Pass is located at
(A) Kullu
(B) Chamba

(C) Mandi

(D) Kinnuur

When the World Health

Organisation founded ?

woas

(A) 4 April, 1947
(B) 9 April, 1948
{C) T April, 1947

(D) None of these

Make in India programme has adapted

ane of the following as its ‘Logo’
(A) Elephant

(B) Lion

(C) Tiger

——

(¥} Kangaroo

P.T.O.



. T | e
TSI T S—
(B) Wfem Tt
(C) wifean amwatie
(D) wifsaq wElte

g5. WA O ‘waeg wa afwar’ & a4 | 85.

& fem ma?
(4 2014 %
(B) 1914

3
() 2015 %
-

86.

g7, wme faar & QWA TH o1

June-2022 Series-D

87.

(16)

84. Baking So

86.

da 18

(A) Sodium Chlnride

(B) Sodium H_vd:-cxide

() Sedium Bicarhunme

(D) Sedium Carbonat®

In India «gwachh Bharat Abhiyan’
tpunched in which year ?

(A) 2014 AD.
(B) 1914 A.D.
(C) 2015 AD.
(D) 2016 A.D,
Which is the Highest National Highways

of Indin ?

(A) Manali-Leh Nationanl Highways
(B) Una-Mandi National lHighways
(C) Pathankot-Shimla National Highways

(D) Chamba-Talwara National Hlighways

Old name of Distt. Kangra was ?
(A) Trigarta

(B) Kulut

(C) Suket

(D) None of the above



g = g ¥ 7
(A) TE T AR W e e

B8. Full form of ‘MGNREGA'

(A) Mahatma Gandhi National Rural

TR Employment Guarantee Act

‘E}- AL T F TE (B) Majduron Ko Nai Rozgar ki
& Guarantee Act *

(€) TE MM TR ueEm e {C) Mahutmu Gandhi National Rajkiya
U Rozpar Act

(D) 79 A w1 w7 (13} None of these

& T T TENRE T wE TrEEd $ | 89, Whe Administers the Oath of office to

WY WA ﬁﬁl’d‘l 22 ‘ the President of Indin 7
(A) TR & WA WEdm - (A) Chiefl Justice of India
(B) wurms {B) Trime Minister
(C) FTHEM 3Iey (C) Spenker of Lok Subha
(D) ISR 7 (D) Vice President of India
00. femrem wam W ‘ga3a’ #1 wi=t FE | 90. Where is ‘Sun Temple' located in
frm 2 Himachal Pradesh ?
(A) Y * (A} Neerath
(B) Wit (B} Bharmour
(C) TEE , (CY Masrur
(B faamem ) ’ (D) Rivalsar
91, “afepd wRA" THE THF ® €@F FA | 91 Who wrote the book “Bahishkrit
L Bharat™?
(A) s FEEEt (A) Bhim Rao Ambedkar
(B) TArE Fdt (B) Dayanand Saraswati
(C) Wt W (C) Mahatma Gandhi
(D) W fag : (D) Bhagat Singh

June-2022 Series-D (17) - P.T. 0.



'rfym
(B) &

(C) THRT
(D) ==0

Feaim & T war el €7

(A 14913 TF<

(B} 13050 F<

(C) 14000 F<

(D) 15000 F<

femraa faus \w ¥ fem §Tm &7

95.

. 96.
(A) 65

(B) 66

(C) 67

(D) 68
June-2022 Series-D

92, NEFA is the old name of

(A) Karnataka
(B) Tamil Nadu

(C) Nagaland

(D) Arunachal pradesh

rld's largest Continent

93. Which is Wo
(Population wise) 7

(A) Northern America °
(13) Australia
(C) Asia

(D) Africa

94. The \Chintpurni Pair’ is related of which

pistt. of H.P.?
(A) Kangra
(B} Una
(C) Hamirpur
(D} Chamba
95. What is the “Hight of Rohtang Pass” ?
(A) 14913 Feet
(B) 13050 Feet ..
(C) 14000 Feet
(D) 15000 Feet
96. How many Members are in Himachal
Legislative Assembly ?
{A) 65
(B) 66
(C) 67
(D) 68

(18)



o
w1 H1?

(A) TR
(B) WHTST
(C) TR
(D) TITETE
98.
GICTER S e e
(A) T YET@ TREY
(B) mETe Mt
(C) T S

-~

(Dy fordisn W
‘qq,qm‘rmmmmﬁqmi?
EVI: & |
(B) =%

(C) AT

(D) T8 A wE W

100, TF TTAIY] @ FeERTE A 2, 8,

% =z T f@e @@ W E7
(A) s |

(B) O

() s
(D) &

June-2022 Series-D

.o'q..'p'g,'—[{u {!a?’lln'a'{) T 5 T e

frefafem § % ferg 3 8 -faeE

1

97,

g8s.

99,

100.

(19)

Who established “Kahloor” (Bilnspur)

State ? ‘
(A} Bir Chand

(B) Anand Chand

() Ram Chand

(D) Gopal Chund
Who asmong the following Advocated

Party less Democracy in India ?
(A1 Jai I'rakash Narayan

(B) Mahatma Guondhi

(C) Jawaharlal Neliru

(D Vinobha Bhabe

Which of the following is the Navural
Satellite of the Earth ?

(A1 The Sun
(B) The Moon
{C) The Mars

l
(1) None of these

Nome a Nuclear clement whose

Eleclrcfnicmnﬁguratiﬂn is 2, 8, 77
(A) Sedium
{B) Chlorine
(C) Oxygen.

(D) Carbon



